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D 20 10 g D 20
= Entries 19271 = Entries 12381
= Mean 108.4 B Mean 109.0
B RMS 23.93 = RMS 24.56
- ¥'/ndf361.2 / 136 10 31 X°/ndR59.5 / 129
| P1 0.3140+ 0.6701E-01 g P1 0.3285+ 0.8471E—01
S P2 90.54+ 0.1221E-01 = P2 90.21+ 0.1853E-01
- P3 10.48 + 0.2576 B P3 10.75 + 0.3037
- P4 15.10 + 0.9867 = P4 14.70 + 1.103
B Wm 17.55 + 8.249 10 21 Wj 12.88 + 5.736
= 10
= I ==
g | | l I A Il | g |

100 200 300 100 200 300
datafile notyvek/d—1.0.txt datafile notyvek/d—0.5.txt
= D 20 10 4 [ D 20
— Entries 17599 — Entries 18055
B Mean 109.1 = Mean 107.5
B RMS 25.27 B RMS 23.30
B ’/nd275.7 / 140 3 B */ndf343.3 / 137
— P1 0.3523+ 0.6136E-01 10 - P1 0.2933+ 0.4360E—02
- P2 90.75+ 0.1463E-01 = P2 90.28+ 0.4001E-05
- P3 9.766 + 0.1300 = P3 10.18 + 0.1708
B P4 13.87 0.4960 B P4 15.70 + 0.8250
25.52 + 6.982 % 14.66 + 3.354
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datafile notyvek/d0.0.txt datafile notyvek /d+0.5.txt
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[ D 20

= Entries 17649

- Mean 105.8

B RMS 21.56

B X¥/nd291.4 / 134

— P1 0.2528 + 0.5202E—01

B P2 90.83+ 0.1225E-01

- P3 10,07 £ 0.1500

B P4 13.66 + 0.5946
PR 14.34 3.344
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100 200 300
datafile notyvek/d+1.0.txt

- D 20

= Entries 17724

= Mean 104.0

B RMS 19.80

B ¥/nd249.5 / 127

- P1 0.2091 + 0.4725E-01

= P2 90.87+ 0.1187E-01

- P3 10,18 £ 0.1889

B P4 13.37 £ 0.7266
P5 7.621 + 1.557

100 200 300
datafile notyvek/d+2.0.txt
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- D 20
= Entries 16802
— Mean 105.2
B RMS 21.10
x°/ndf298.2 / 130
— P1 0.2339+ 0.5177E-01
= P2 90.85+ 0.1236E—01
- P3 10.05 + 0.1810
B P4 14,03 + 0.7234
P5 10.69 + 2.433
g | I|I Ll |
100 200 300
datafile notyvek/d+1.5.txt
[ D 20
= Entries 17412
— Mean 101.9
B RMS 17.36
B ?/ndf207.8 / 111
- P1 0.1636 + 0.3976E—01
= P2 90.65+ 0.1025E-01
B P3 9.622 + 0.1719
B P4 21.03+ 2.836
P5 5.848 + 2.943
; l l l l l l ‘ l
100 200 300

datafile notyvek /d+2.5.txt
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= Entries 17379
[~ Mean 102.0
B RMS 17.90
B X /ndR224.7 / 116
| P1 0.1624 £ 0.4300E-01
B P2 90.74 + 0.1111E-01
~ P3 9.901 + 0.1886
B P4 16.54 + 1.715
B P5 8.260 + 5.055
g | A I |
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datafile notyvek/d+3.0.txt
D 20
— Entries 17523
- Mean 96.80
B RMS 16.84
| X’/ndf151.0 / 106
P1 0.1364 £ 0.4263E-01

= P2 90.72 £ 0.1520E-01
B P3 9.060 + 0.1735
B P4 16.03 + 4.871
- P5 7.208 + 7.678
; l l l l l l l ‘ l

100 200 300

datafile notyvek/d+4.0.txt
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[ D 20
S Entries 17706
= Mean 101.4
— RMS 17.26
B ¥'/nd211.5 / 113
- P1 0.1500 £ 0.4029E-01
- P2 90.64+ 0.1018E-01
[ P3 10.23 £ 0.2234
B P4 16.84 £ 1.758
B P5 10.40 £ 10.20
- | |
100 200 300
datafile notyvek /d+3.5.txt
D 20
— Entries 16614
- Mean 95.88
[~ RMS 15.93
| ?/ndfl61.2  / 109
P1 0.1115+ 0.3008E-01
= P2 90.16 £ 0.1639E-01
- P3 8.413 & 0.1081
= P4 11.38 £ 1.137
— P5 8.588 + 1017
8 [ MI||| I [
100 200 300

datafile notyvek /d+4.5.txt
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i D 20 4 D 20
- Entries 17789 10" Entries 17124
= Mean 95,99 - Mean 95.60
- RMS 15.85 - RMS 15.34
B ¥/ndf140.6 / 99 B ¥/ndfl10.5 / 105

P1 0.1157 + 0.3469E—01 3 P 0.1063+ 0.2936E—01
= P2 90.59 £ 0.1205E-01 107 P2 90.19 4+ 0.1833E—-01
B P3 8.977 + 0.1453 g P3 8.763 + 0.1282
- P4 12,60 + 2.158 N P4 10,31+ 1.046
= P5 1218+ 32.31 5 P5 3.928 + 2.469
= 10 =
= 10
= /I ==
g | | g | LI |

100 200 300 100 200 300
datafile notyvek/d+5.0.txt datafile notyvek /d+5.5.1xt

D 20 4 D 20
= Entries 17139 107 Entries 16869
= Mean 95,62 - Mean 95.53
- RMS 15.30 - RMS 15.14
u X’/ndf135.5 / 109 u X?/ndf102.4 / 105

P1 0.1056 + 0.3702E—01 3 P1 0.1067 + 0.1185E—01
= 90.70 £ 0.1216E-01 107 P2 90.66 + 16.55
- 9.147 + 0.1946 - P3 8.659 + 1.501
N 16.59 + 1.357 - P4 17.99 + 0.1221
= 21.05+ 1.197 5 P5 7541+ 0.1219
= 10 =
= 10
= =
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datafile notyvek/d+6.0.txt
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D 20
— Entries 16869
- Mean 95,53
- RMS 15.14
B ¥/ndf102.4 / 105

P1 0.1067 £ 0.1185E-01
= P2 90.66 + 16.55
- P3 8.659 + 1.501
- P4 17.99 + 0.1221
— P5 7.541 £ 0.1219
= ‘ ! | \l ! ‘
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datafile notyvek/d+7.0.txt

2004,/09,/03

17.34



102

107

10

- D 20
B Entries 14645
B Mean 125.1
RMS 37.60
= X¥/nd212.9 / 145
~ P1 0.8023 + 0.1049
B P2 90.83+ 0.2196E-01
| 9.939 + 0.9648E-01
14,01 + 0.3169
— P5 18.60 + 2.439
E | |
100 200 300
datafile tyvek /d—1.5.1xt
D 20
B Entries 15158
Mean 136.2
- RMS 43.43
= /ndR37.2 / 145
[~ P1 1.077 £ 0.1276
= P2 90.71 £ 0.2873E-01
B 10.20 + 0.1052
P4 14.04 + 0.2507
P5s\y M 15751 1.217

100
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datafile tyvek /d—0.75.txt
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[ D 20
B Entries 15749
B Mean 130.4
| RMS 40.75
= X?/ndf262.1 / 146
B P1 0.9309 + 0.1142
B P2 90.59 + 0.9265E-01
= 10.43 £ 0.1018
13.87 £ 0.2500
15.09 + 1.116

100 200 300
datafile tyvek /d—1.0.txt

D 20

Entries 15664

Mean 140.2

RMS 45.71

*/ndR246.1 / 146

P1 1172+ 0.1367

P2 90.84 + 0.2998E-01
10.34 + 0.1040

P4 1410+ 0.2494

P5 16.54 1.303

100
datafile tyvek /d—0.5.txt
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D 20

Entries 15678

Mean 142.6

RMS 47.03

X/ndf303.1  / 147

P1 1.235+ 0.1268E-01

P2 90.17 + 0.1541E-02
10.24 + 0.1547

P4 14.27 + 0.3066

P5 16.72 + 0.7383

100

200 300
datafile tyvek /d—0.25 . txt
D 20
Entries 16375
Mean 139.8
RMS 45.20

¥/ndf310.7 / 145

P1 1.166 £ 0.1392E-01
P2 90.60 £ 0.3423E-02

10.29 £ 0.1497
P4 1429 £ 0.2973
P5 16.07 £ Q0.7207
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200

300

datafile tyvek/d0.25.txt
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D 20
= Entries 15490
Mean 143.2
== RMS 47.21
- ¥/ndR277.0 / 146
= P1 1.251+ 0.12156-01
B P2 90.03+ 0.1696E—02
B 10.20 + 0.1542
| P4 15.09 + 0.3449
= P5 16.99 + 0.7922
- | |
100 200 300
datafile tyvek /d0.0.txt
B D 20
— Entries 16434
B Mean 133.1
| RMS 41.63
= X?/ndf255.5 / 145
- P1 1.005 £ 0.1210
B P2 90.77 £ 0.2965E-01
= 10.22 + 0.1035
P4 14.05 % 0.2826
P5 Y\ s 16.35+ 1.772
\U4
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datafile tyvek /d0.5.txt
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= D 20 = D 20
B Entries 16689 B Entries 16340
L Mean 129.6 | Mean 125.9

RMS 39.90 3 RMS 37.98
= Y/nd269.2 / 145 10 b ¥/ndR932 / 145
= P1 0.9133+ 0.8951E—01 - P1 0.8190 + 0.1084E—01
B P2 90.17 + 0.1098 = P2 90.56 + 0.2186E—02
B 10.28 + 0.7623E-01 B R 10.23 + 0.1471

1419 + 0.1810 5 B 13.54 + 0.3269
— M 15.96 + 0.8353 10° & P5 14.86 + 0.8529
= 10
= 1 B
- A | B | |
100 200 300 100 200 300
datafile tyvek /d0.75.txt datafile tyvek /d1.0.txt
4
B D 20 10 B D 20
u Entries 17000 E Entries 17063
B Mean 121.0 = Mean 118.3
B RMS 34.77 = RMS 34.37
| /nd266.5 / 147 3 */ndf269.0 / 149
- P1 0.6996 + 0.7050E—02 10 = P1 0.6396 + 0.6832E—02
~ P2 89.91 + 0.1077E—02 ~ P2 90.68 4+ 0.3880E—01
= P3 9.847 + 0.1305 B P3 1017 0.1491
B 13.03+ 0.3199 = 13.91+ 0.3822
| P5 15.30 + 1.128 2 P5 15.05 + 1.131
- 10° |
= 10
= 1T
E \’ | 1 S| N
100 200 300 100 200 300

datafile tyvek /d1.5.txt

datafile tyvek /d2.0.txt
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Entries
Mean
RMS

20
17286
114.0
31.48

P1
P2
P3

A

¥/nd265.9 / 149

0.5378 £ 0.8320E-01
90.77 £ 0.2433E-01
10.03 £+ 0.1239
13.72 £ 0.4295
15.40 £ 2.324

R

100 200 300
datafile tyvek /d2.5.txt
D 20
Entries 17192
Mean 111.9
RMS 29.55

P1
P2
P3

A

/ndf330.0 / 143

0.4847 + 0.5686E-01
90.17 £ 0.4854E-01
9.788 £ 0.7588E-01
13.08 £ 0.2189
16.69 £ 1.344

100

200

300
datafile tyvek /d3.5.txt

2004,/09,/03

D
Entries
Mean
RMS

20
17146
113.5
30.95

P1

¥/nd263.7 / 147

0.5224 £ 0.8070E-01
90.81 £ 0.2364E-01

9.945 % 0.1210
13.01 £ 0.4052
14.68 £ 3.341

100 200 300
datafile tyvek /d3.0.txt
— D 20
- Entries 16140
— Mean 110.4
B RMS 29.00
*/ndf333.7 / 144
= P1 0.4513+ 0.5732E—02
= P2 90.21+ 0.9352E-03
N P3 9.631 % 0.1458
| P4 13.77 + 0.5102
21.45+ 3.601
; l l l l ‘ l l I ‘l l
100 200 300

datafile tyvek /d4.0.txt
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D
Entries
Mean
RMS

20
16361
107.8
26.62

P1
P2
P3
P4

¥/nd254.9 / 140

0.3898 + 0.6744E-01
90.65+ 0.1557E-01
9.414 £ 0.1159
1325+ 0.4923
15.17 £ 3.036

W

100 200 300
datafile tyvek /d4.5.txt

[ D 20
= Entries 16197
= Mean 107.0
B RMS 26.10
B ¥/nd236.6 / 143
— P1 0.3675+ 0.4967E-02
8 P2 90.81 £ 0.1980E-02
- P3 9.743+ 0.1603
B P4 11.79 + 0.4659

) 12.41 + 1.654

£
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datafile tyvek /d5.5.txt

2004,/09/03
[ D 20
- Entries 16241
- Mean 107.4
B RMS 26.06
B X’/ndR62.3 / 144
- P1 0.3764+ 0.6744E—01
- P2 90.73+ 0.1889E-01
B P3 9.747 £ 0.1460
B P4 12.51 % 0.4444
73 14.55 + 2.478
B | | |
100 200 300
datafile tyvek /d5.0.txt
— D 20
= Entries 14695
— Mean 106.1
B RMS 25.39
*/nd217.3 / 143
= P1 0.3447 + 0.6837E—02
= P2 90.16 + 0.9555E—03
B P3 9.593 + 0.1582
B P4 13.18 + 0.5557
13.82+ 2.569

100

200

300
datafile tyvek /d6.0.txt
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D 20
Entries 15187
Mean 105.8
RMS 25.05
X/nd254.1  / 141
P1 0.3372 + 0.5278E-02
P2 90.19+ 0.5267E-03
P3 9.557 £ 0.1690
P4 12.27 + 0.5155

78 1314+ 2.355

1 | I“I 1

100 200 300
datafile tyvek /d6.5.txt

2004,/09/03 17.39

== ID 20
= Entries 13807
[ Mean 105.6
| RMS 24.91
X’/ndR211.5 / 140
= P1 0.3313+ 0.6721E—01
= P2 90.82 4+ 0.1606E—01
B P3 9.356 + 0.1336
B P4 13.39 + 0.5131
P9 12.09 + 1.975

W

100 200 300
datafile tyvek /d7.0.txt
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